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Choose correct option for the following from the options provided. Max. Marks 50

What is the science which studies human behaviour and deals with economic problems called?
A} Philosophy B) Physics C) Economics D) Statistics
Who introduced economics as a real science?
A) Adam Smith B) Robbins C) Samuelson D) Prof. Marshall
What is the monetary payment in exchange of a good called?
A) Value B) Exchange C) Price D) Wealth
Which of the following is not a characteristic of wealth?
M) Possesses usefulness B) Should be available in abundance
C) Has an explicit existence D) Is capable of being exchanged

Which kinds of commodities are called complementary commodities?

A) Joint B) Competitive ~ C) Not related D) Alternative
Which one has no relation with demand curve?
A) Specific time B) Specific price C) Consumer D) Supply
What are the changes that take place in supply due to decrease in the price of a commodity?
A) Increase B) Expansion C) Contraction D) Decrease
If there is expectation about rise in price in future then present supply ?
A) Increase B) Decrease C) Remain constant D) Remain zero

Which cost cannot be measured?
A) Real Cost B) Monetary Cost C) Opportunity cost D) Long run cost
How the slope of Fixed cost curve is?
A) Negative B) Positive C) Parallel to y-axis D) Parallel to x-axis
In which market *Firm is an industry’?
A) Perfect Competition ~ B) Monopoly ~ C) Monopolistic Competition D) Oligopoly
‘Super Normal Profit’ is a characteristic of which market?

A) Monopolistic Competition  B) Oligopoly C) Monopoly D) Perfect Competition
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In which year the Reserve Bank of India (RBI) was set up?

A) 1847 B) 1857 C) 1935 D) 1947
Aceording to Human Development Report of 2014, what was India’s per capita Income?
A} 55150 B)s 9250 C) 543,048 D) 552,308

In the recent times which of the following area is reserved for exclusive investment by the public
sector?
A) Fertilizer B) Television C) Automobile D) Railway
What is the policy of producing the goods domestically which are similar to imports called?
A} Privatization  B) Liberalization C) import substitution D) Globalization
Which expenditure of government is not considered in national income?
A) Production  B) Transfer Payment  C) wages of laboureres D) Defence expenditure

Who gave the definition of national income by production method?

A) Marshall B) Fisher C) Pigou D) Samuelson

What is meant by a ‘Panchayat’?
A} An assembly of 5 persons B) An assembly of 50 people
C) An assembly of 500 people D) An assembly of 5 Villages

Who favoured the concept of balanced budget?
A) Adam Smith B) Marshall C) Keynes D) Hicks

Which of the following concepts of deficit does not have policy importance in India?

A) Revenue deficit B) Budgetary Deficit

C) Fiscal deficit D) Primary Deficit
How many tiers of government are mentioned in the Indian Constitution?

A) One tier B) Two tier C) Three tier D) Zero tier

How many sources of income of the state did Kautilya show?
A) 7 B) 5 C)9 D) 8
Which was the theory given by Pandit Deendayal with reference to Labour Oriented Production

method?
A) Work for everyone B) Food for everyone
C) Rest for everyone D) House for everyone

Who was the patron of ‘Integral Humanism'?
A} Gandhiji B) Pandit Deendayal C) Kautilya D) Prof. Marshall
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For which type of distribution a graph is drawn?
A} Continuous B) Discontinuous C) Skewed D) Ideal
Which of the following diagrams are drawn for similar data?
A) Simple bar diagram and clustered bar diagram
B) Bar diagram and pie diagram
() Clustered bar diagram and time-series graph
D) Pie diagram and time-series graph
What was India’s ranking in the world according to the Human Development Index in 2014?
(At 127 (B) 128 (C) 129 (D) 130
What is the value of Human Development Index?
(a)y 0 (B)y 1 (C)Between0 and 1 (D) 100
Generally which countries are related with the concept of economic growth?
(A) Developed  (B) Developing  (C) Backward countries (D) Third world countries
W hat is the type of inflation called when there is an increase in demand?
(A) Demand-pull (B) Costinduced (C) Salary induced (D) profit induced
Which economist believes that the true inflation is caused when there is rise in prices even when
there is full employment?
(A} Marshall  (B) Crowhter (C) Keynes (D) Pigou
Which of the following can be used as the best means for storage of value?
(A} Crops (B) Animals (C) Stones-minerals (D) Coins
Iow many major types of deposits exist in banks in India?
(A) 2 (B) 6 (C) 10 (D) 3
\What is the rate at which RBI borrows funds for very short term from the commercial banks is
called?
A) Reporate  B) Bank rate  C) Reverse repo rate D) Open market rate
What amounts of rupees are decided by Tendulkar committee in the year 2011-12 for deciding
poverty line in urban areas?
Al B16 B)916 C)1000 D)2000
According to all estimate for the year 2011-12, which of the following state falls in the category
of 30-40% poverty?
A) Punjab B) Jammu and Kashmir C) Karnataka D) Odisha
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Which state has the maximum toilet facility in India?
A) Gujarat B} Punjab C)Bihar D) Kerala
A person is capable, willing and ready to work at current wage rate but not getting work is said to
el
A) Unemployed B) poor C) surplus D) worker
Which type of production technique increase unemployment?
A) Labourintensive  B) Capital intensive  C) Agriculture oriented D) Education oriented
Which state in India has the highest female population per 1000 males?
A) Gujarat  B) Maharashtra C) Kerala D) Uttar Pradesh
What was India’s birth-rate in 20112
A)2IL8  B)368 C)720 D)23.8
How much was the contribution of agriculture in national income of 2011-12?
AlS3 1%  B)423%  C)13.9% D)59.9%
How much is the use of pesticides per hectare in India?
WV USKg B)2Z5Kg C)66Kg D)7Kg
How much was the contribution of industries in 2013-14 in national income of India?
A) 16:6% B)27% C) 40% D) 60%
How muchr investmenit is needed in large scale industries?
A) Icrores  B)Scrores  C) More than 10 crores d) 100 crores
What is public sector?
AJ Sector run by people B) Sector run by government
) Sector run on co-operation D) International sector
[dentify the type of effect that is caused by migration due to pull factors.
A} Negative B) Positive  C) Zero D) Relative
Which age groups of children are eligible for compulsory and free education according to the
Indian Constitution? _
A) #-14 years B)3-15years C)6-14 years D) 7-15 years

What was the extent of literacy in India in 20117

A) 30.0% B)60.0% C)70.0% D)74.04%
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